[image: image1.jpg]w2014 A PR (S ) E R E
RS H B R b
*.!Sﬂiﬁ&i(ﬂll\lﬂZﬁ.*‘ﬂ&N
me]1[2 5] [s
wx|o |8

[elo] 3\9‘;0‘\\‘|~‘1J\14‘15\
35 BN I

a[xle]

= RS | 5 R 2 2,316 4) %
6 (s ()@H  OHFE
EH
18 BR ESRE
19704 s R
20 # 1x10*
s

= EE(SSH)
23, SRR, R T A A REATAL 4) T 1 — 28 A A
R ) R REA R e T RS A SR AR
(14 TR A5t o 5 A T R (1 49) . (LGSR
4
I RBERE(HERN ST 1 5, R0
24 (4 (FE E QSN HAH
25. (5 (DMK 0 (WS GEE (DD

5. M OR=LERI=F =0 OEBESE) GW0GES 10

2. (4 NG ()T AT (3) AR A R L 7 A A R
(AR
B (GMME @2 KT %0 G Bt
20.(641)(1)0.4 40 (2)16 (3)2.5 (A4
gEAmEE B1HG2T





[image: image3.png]


[image: image2.jpg]N (320 53

30. (441
B p=ur
14)
a%
i = )
=1100W x0. 5h =1. 1kW x0. 5h =0. 55kW - b 1By
3L (744 g
BB ()= ¥R Py =C =6 x10N - as
B Fy =py gy - (1)
F 5
Vps—To____6xIO'N ~0.6m
i Px& Ux10kg/m x 10N /kg O™ s
(2) BERFEATROABIR s = o0 = 10m/s x5 x60s =3 X10°m - (14
BARER MM £=0.1x6 x10°N =600N %)
HABER BN Iy F=/=600N - (14)
31 AME) W= Fr =600N x3 x10°m =1,8 x10°] am
32. (94
s (1) 25, T L = 0.24 - (1)
il - (14)
I R, P
Uy = LRy = 0.24 x200 = 4V, - (1)
(2) HEZA, SRRZARIMEIIR, L., = 1.24 e
BB Ry PO
Uly = LRy = 1.24 200 = 24
SR B AR I
U-Uy _36V-24V _ 2
Ry =T o1 (14

AL Ry = 100 1, FEAMBIRRIRANE A% Q0N BRAZE
MRS Fo, = 600N fread
(3) WHERBHIERROFER

[ pe > p BRI ER

HELEER W2A(G2R)




